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Time: 3 Hours
Instructions: - 1. Attempt all questions.
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2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
SECTION-I
Find the value of t when A= 85 from the following table,using La

1 2 5 8 14
A: 94.8 87.9 81. | 68.7

Find the value of cos 1.74 using the table given beloyy:

Xi 1.70 1.74 1.78
sinxz [WI0DT6 - (10,9857 | 0.9781

T
Using trapezoidal rule evaluate f03 tanx d

Sk 1 2
a) u——2m+ (1+45

b 1+ S =T

Solve the equation x" — 2% §
Define various types of effors. C

0, given that the sum of two roots is zero.
actical example of source of each type.

OR

ding real root of equation,

iteration method correct to three decimal places,

Explain newton-rap
Solve the equations
10x +y—z=11.19,
Xt [ 0ysz = 28418
Xx+y+10z=3
Attempt any
Answer

ast square method,normal equations are ?
neve Trapezodial rule is applicable,Simpson’s 1/3" rule can also be applied.
Si111§3n’s 3/8" rule for numerical integration.

1 divided difference for xo,X1,X2,X3,X4= ?
uple gives the following output for rise in temperature:

0 10 |20 30 |40 |50
Output(mV) | 0.0 |04 | 0.8 | 1.2 |1.6]2.0
ind the output of thermocouple for 37°C temperature using Newton’s Divide
difference formula.

a curve of form y=ae®* to the following data:

+2,taking interval of differencing as unity, A%y = ?
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SECTION-II

Apply Milne’s method to find a solution of the differential equation dy/dx= x —‘ in ge of (6)
0 <x <1 for boundary conditiony =0atx =0.
Solve x4 — 5x3 + 20x2 — 40x + 60 = 0, given that all the roots of f(x) = 0 are cormin— (©6)
Bairstow method.

OR 4
Solve by Taylor’s series method the equation dy/dx = log(xy) for y(1.1)%and y(1.2); given that (6)
y()=2.
Find the real root of equation x e = cos x using secant method cogfect cimal places (6)
Solve the equations by Relaxation method, (6)
10x — 2y — 3z = 205,
—2x + 10y —2z = 154,
“2x—y+ 10z=120 &
Using modified Euler’s method, find y(0.2) and y(0.4) given (5)
¥ =y tex y(0)=10]

OR
Apply Runge-Kutta fourth order method to a ate value of y when x = 0.2 given (6)
that dy/dx =x +yand y = 1 when x =0.
Write a short note on Ill-conditioned equations: | (5)
Attempt any two: (12)

Find the real root of equatia 0 by regula-falsi method correct to four decimal

places.
The velocity v (km/mi tw eler which starts from rest , is given at fixed intervals of
time t (min) as follows: :
t 2 4 6 10 12 14 16 18 20
v 1% 2 29 32 20 11 5 2 0
Estimate appr tel distance covered in 20 minutes.

Solve the following system of equations by Gauss-Jacobi’s iteration method correct to three

S5x—y+z= +dy =12, x+y+5z= -1.Start with(2,3,0).

END OF PAPER
Best of Luck
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